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Math 0099
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Simplify and write in @ + bi form
1 V=63 = < N 9.7 A
\!_ K O 4+ 2N7 /
= 9 4 '\) v/
A — .
e i i A oS = v 5 O L
ole |
N A L I AR I
4-3i £ - :’;;4.' é/ >~ }/d /é % ?
& A 2E -}
—23 / / - D?ﬁ D?j

1\

4. i B
/c,'a’? - &,05’1,&?(

_ /. < e .

R G

Use the Square Root Property to solve
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Use Completing the Square to solve.
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. Use the Quadratic Formula to solve.
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Find the Discriminant and determine the number and types of solutions to the below
equation.
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Solve by any method.
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Find the equation in Standard form given the ordered pairs.
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